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There is only one correct response for each question. More than one response to a single question shall be treated
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SECTION-I

1. Whatcomes next:9, 15, 23, 33?
(A) 44 (B)36 (C)38 (D) 45
Neigen @8 2ide « 9,15, 23, 33?
(A) 24 (B) 36 (C) 38 (D) 45
2. 49,36, 25,16, 9.........
(A) 28 (B) 2 (€)8 (D)4
49, 36, 25,16, 9..........
(A)28 (B)2 (€8 (D) 4
3. Find the odd man out :
(A) Father (B) Mother (C) Sister (D) Mother-in-law
AAARE NGF, 6HIF Qe KA :
(A) Qi1 ‘ (B) el (C) e@en (D) i,
G [4
4. LIGHTis BRIGHT asSUN is:
(A) Moon ~ (B)Day (C) Earth (D) Shine
ZIERIS 6208 AqR 6U62Q 941 6268
(A) o (B) @@Q (C) gae (D) 873
5._ When -7 is subtracted from -7, result is :
(A)7 (B) 14 (©o (D) 24
7 Q 7Q G6disl R6R, TRITR 629 :

(A) 7 (8)14 ()0 (D) 24
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6. If SPIDER is written as PSDIRE.in a certain cﬁtié. How would COMMON be written in that code?
(A) OCMMON {B) OCMOMN (C) OCMMNO (D) oCcOMMO

6763 A8 AETEER SPIDER @ U@ PSDIRE SI6Q 6AMIAN 6069 698 A6TEE COMMON @ 6966

saeIde ?

(A) OCMMON (B) OCMOMN {C) OCMMNO (D) OCOMMO

7. The ladysitting in'the sun is my brother’é mother’s daughter. | have one brother and one sister. What

is that lady to me?
(A) Mother (B) Sister-in-law (C) Sister (D) Daughter
¢QI6R @GR! 2T 671 RS ARIT 32 | 671Q 66T fIR 9a° 66N eed | 628 82 a8 6rIR afa
Q€ ? | ’
(A) cnell (B) QIe (C) a@&! (D) €2
8. HowmanyQ’sare preceded by R and followed by P in the following seriés : ASRQPQRQN RQPRQPQR
(A)3 (B)1 {0)2 _ (P) 6
UARU! UNER R AR I9° P goq 6@60I5 Q 688 : ASROPQRQNRQPRQPQR
(A)3 _ (8)1 (€2 (D)6
9. Raju’s rankis 18™ in a class of 50. What is his rank from the last?
(A) 32 (B) 33" (C) 31 (D) 30t
50 éel 2IeIe! 2R ﬂé egénéa QIRR 97 6208 18067 | 6449 2iQ C¥I0 A6 PR YIF 6066 699 ?
(A) 32091 (B) 330%1 (C) 3104 (D) 30e¢
10. Seven years ago Pinku was three years older than Tinku. What is difference in their ages now?
(A) 5 years (B) 7 years (C) 3 years (D) 1 year
Qe 9F geq dg §goiQ 6 Qré_t Q@ 2l | QEIFIR 6AMIRT QO PRIIER SIRBTH 6960 7

(A) 5 o8 (B)79d (C)3ed (D) 19
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Directions from 11 to 15 questions : Read the following passage and choose the best answer to each

question out of the four alternatives.

Mahatma Gandhi believed that industrialization was no answer to the problems that plague the mass of
India’s poor and that villagers should be taught to be self-sufficient in food, weave their own cloth from
cotton and eschew the glittering prizes that the twentieth century so temptingly offers. Such an idyllic

and rural paradise did not appear to those who inherited the reins of political power.

11. Which one of the fqllowing best illustrates the relationship between the phrases :
(i) ‘eschew the glittering prizes’ and
(ii) ‘idyllic and rural paradise’?
(A) u'nless you do (i), you cannot have (ii) (B) (i) and (ii) are identicalin meaning
(C) first of all you must have (ii) in order to do i) (D) the meaning of (i) is directly opposite to (ii)
12. Mahatma Gandhi’s views opposed industrialisation of. villages because :
(A) it would help the poor and not the rich (B) it would take away the skill of the villagers
(C) it would affect the culture of the Indians
(P) it would undermine self-sufficiency and destroy the beauty of life of the villager
13. The meaning of ‘the glittering prize_s that the twentieth century so temptingly offers’ is :
(A) pursuit of a commercialized material culture (B) replacement of rural by urban interests
(C) complete removal of poverty (D) absence of violence and corruption
14. Mahatma Gandhi’s dream of ‘an idyllic and rural paradise’ was not shared by :
(A) those who did not believe in the industrialization of the country
(B)- those who called him the Father of the Nation
(C) those who inherited political power after independence

(D) those who believed that villages should be self-sufficient in food and cloth
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. 15. The basis of ‘an idyllic and rural paradise’ is :

(A) rapid industrialization of villages

(B) self-sufficiency in food and clothes sirﬁplicity of the lifestyle

(C) bringing to the villages the glittering prizes of the twentieth century.

(D) supporting those holding powerful political positions.
CHOOSE THE CORRECT SPELLINGS FROM THE FOLLOWING :
16. (A) maintenance (?) maintainance {C) maintainence (D) maintanence
17. (A) commisioner {B) comissioner {C) commissicner (D) commissionor
COMPLETE THE FOLLOWING PROVERBS :

18. Blood is thicker than

) (A) wine (B) glass (C) paper - (D) water
19;No news
‘ (A) makes no newspaper (B) is good news (C) no‘ttl)ing. new (D) no danger
20. It isl making longer than | expected.
(A) more (B) quite (C) rather (D) some

21. The term Dyslexia covers a wide range of :
(A) reading disabilities  (B) hearing disabilities(C) mental disorders (D) emotional disorders
Dyslexia €@ Q@ MIOR 28 92 F6Q

(A) 90Q6Ie 2GR (B) 46e 2ECal (C) AIede Ggaral (D) RISYREISITG Y&
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22. The scheme of Sarva Shiksha Abhiyan (SSA) was launched in the year :
(A) 2001 (8)2005 (02007 (D) 2003
aq & a@mé 6QIRRI 6Q6Q 2R FAULIRARI ?
(A) 2001 - (B) 2005 (C) 2007 (D) 2003
23. Headquarter.s of NAAC are located in :
(A) New Delhi (B)Bangalore (C) Qaranasi gianr (| Bhubaneswar
NAAC @ g6 QIdUIRe 6aa0isa 5@@@ ?
(A) 2 By (B) QTSR (C) QeusIiat (D) @L6RgQ

24. Ateacheris saidtobea:

(A) friend (B) philosopher {C) guide (D) all of the above
QeldN Red a8 6201 956 ?
(A) @9 (B) QG (O @eede (D) efge erg

25. How can students be encou.raged to do homework?
(A) by giving them more homework
(B) by urging them to do homework
(C) by telling them the importance of doing homework
(D) by giving homework a;:cording to their ability
cg4leaR é“&llﬂi@&@l g0 Q60 K6l AR SRR Fad aqr@éaamm@@ ?

(A) 6QFIRS 2R TI0 60 FER! iF FeIde (B) €161 €0 6RYS! AR ALEARI FRQ

(C) U6Q O CRYNIR F12Q XN 629 (D) 6QFIREQR FCIGIQ 6O TIO 69IR 629
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26. Teaching does not helpin :
(A) making social relations (B) developing international relations
(C) gaining knowledge (D) inculcating values
IR GGPE}‘I”&GQ i1y QGQ‘?I@‘;
(A) AAIFS AQ R QAR (B) 2ISFIGR A 9F *EiQleR
(F) BRI 2L0E FAQIER (D) QRIS it R atalal
27. If a child is not interested in learning he should be :
(A) turned out (B) totallyignored  (C) punished (D) given individual attention
23 P66 J4 IO RAIY_ 2GR Q62 606R GIg /'8 *EI 6 ?
(A) QI2ie @GN G (8) agdl Q699 *GQl @5e
(C) 996991 QEQ (D) o2 9F 649l AFe
28. Education as per Constitution of India finds the entry in :
(A) Concurrent list (B) State list (C) Centre list - (D) None of these
RIRER AL UQACR J8l 6RR0IEQ ARLE
(A) 9RAFTER OO QAR (B) 9694 QIR (C) 692 el (D) 6x161GE Q62
29. Which one of the following is not an Audio-Visuai Aid?
(A) Motion picture (B) Model of the Taj (C) Television (D) Educational films
SRS MRNQ 6966 FRE-9dR 6LITH AARRE F6% ?

(A) o8 89 (B) 0I992Ra 9998  (C) 9oede (D) 9Ql FE0e ORGQ
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30. Agood teacher will gear his teaching:

(A) to the psychological needs of children (B) to the examination needs of children
(C) to the needs of the toppers (D) to the needs of average children
P66 0 499 o0 IR F18 96e

(A) SAUTRIRE FIGIQ ZICAIROIQ OF (B) SHTIT SRR ALMSOIQ GIF

(C) SR 2RI FREIRI FNITT URMGOR OB (D) Frir odin TS IRAISEIQ OF

31. Which is the world’s smallest country?

(A) Indonesia (B) Sri Lanka (C) Trinidad (D) Vatican City
LU AP0 YT 6IQ QlFl @61 ?
(A) REgIcRT2 (B) g0t (C) BerQi@

32. The ratio of the width of the national

(A)2:3 (B)1:3 (C)1:4 (D)2:5

33. Bharatiya Jnanpith award is given for :
(A) contribution to scientific research (B) research in Ayurvedic:medicine
(C) contribution to the cause of Indian cinema (D) contribution to creative literature
REIE TR0 YR CRRAAQ TRIC ?
(A) 69BIFQ G6QTAIEQ ZRAR QIR (B) ZIRRER BASRICR GELEE! TR

(C) Qiee” JeRdl RG] 2R TR (D) GRA9R AT KEOY. LYNR TR

Page 8 of 32 QP Code : B



34. R.K. Laxman of India is a well known :
(A) Cartoonist (B) Novelist
(C) Painter (D) Bird watcher and specialist of bird life
AR 60. AYS AGER 69T FEMIS 7
(A) QIgR Feaa (B) Bonyde (C) Soaea (D) 081 F199 6N
35. The Human Rights Day is observed on :
(A) 14% Oct. (8) 2™ Nowv. (C) 10t Dec. (D) 20" Dewc.
AIRARIRIA GPAF 6R6Q ARG 6RRe ?
(A) 14 26Q9Q (B) 2 @604 (C) 10 @69 (D) 20 G62aR

36. ‘Titan’ is a name of moon related to Planet :

(A) Neptune (B) Mars (C) Pluto (D) Saturn
CIRGS 6208 691N 99 (RUER)Q A AIF gl 86 AHAE :
(A) 62998 (B) FIGr® (C) gesl (D) &

37. Who is political Guru of Mahatma Gandhi?
(A) Dada Bhai Naroji (B) Rabindra Nath Tagore (C) A.O. Hume (D) G.K. Gokhale
ARICN SINTE QISEHER gQ @ ?
(A) Q9 QIR FIEQIR1(B) FLRE O (C) 4.6, @4¢1 (D) sQlKing @ calisiem
38. In which year man set foot on the moon?
(A) 1961 (B) 1969 (C) 1965 (D) 1971
6Re od Ade orea al@ adal ?

(A) 1961 (B) 1969 (C) 1965 (D) 1971
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39. ‘Sontosh Trophy’ is related to :
(A) National Billiards Championship (B) National Football Championship
(C) Junior National Kabaddi Championship (D) National Women’s Hockey Championship
QWS 0T 60Q 69R R0 ANB ?
(A) I01e: SRLIS efandg (B)RIo1R Jeom ofaedg
(C) P01 RG] Q9@ ofdedy (D) RI01A ORI 27 efaady
40. In which country is the ‘Great wall’ located?
(A) Russia (B) Korea (C) China (D) Argentina

6% 69460 Fdlip YIPIR 29gE ?

(A) @8 (B) 6@l (€) &g (D) Elee°Gal
SECTION-II
41. Side of a square increased by 10%, find the increase in area. - T
(A) 20% (B) 10% (C) 21% (D) 30%

6915 QFETRR 6915 QI 10% 9F GERI, OIR CIRTFER 6960 LNGR AR ?

(A) 20% (B) 10% () 21% (D) 30%
42, Find the HCF of 10, 15, 20.

(A) 10 (B) 60 (€)1 (D)5

10, 15, 20 @ HCF QPR @@ |

(A) 10 ‘ (B) 60 ©1 (D)5
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‘43, Find the value of x in equation : 2x+5=0
(A)2.5 : (8)2
2x+5=0 ANPAEER x Q I VIR VR |

(A) 2.5 ‘ (B)2

{C)-2.5

(C)-2.5

(D)0

44. 40% students passed in mathematics, 30% passed in the English, 10% passed in the both subjects,

find the students to failed in the both subjects.

(A) 40% (B) 20%

(C) 30%

- (D) 25%

40% QI GEieEa AIA RER, 30% LAUNES UL FER, 10% ARG AR A FER, ARG FIIER TR

62IQ21Q §QUIE AW QIR K |

(A) 40% (B) 20% (C) 30% (D) 25%
45. Find the sum 1+2+43+........+100. /

(A) 5000 ‘(B) 10000 (C) 5050 (D) 6000

14243+.......+100 @ AFR 6969 QIR Q|

(A) 5000 (8) 10000 (C) 5050 (D) 6000
46. Country with least population is .:

(A) India (B) China (C) America (D) Canada

QARG PAAYMI A1 696 626 :

(A) QIeQ (B) 12 (C) ZicrRa! (D) QIR
47. Gift of Nileis :

(A) Israel (B) Egypt {(C) Irag (D) Iran.

ARATIR AR 6RLG ?

(A) QR - (8)fe@ {C) aeIe (D) @Qie
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48.

49,

50.

51.

EQUINOX means :

{A) days are longer Fhan nights (B) days and nights are equal

(C) days are shorter than nights“ (D) none of these

Q8216 (EQUINOX) & 218 6968 -

(A) QIS 21609l 5@‘9@ (B) @R 6 9¥6 QeI (C) 6@@@9 QUG0IQ 621g (D) 6x16GE Q62
Spring tides occur twice a month at :

(A) new moon or full moon (B) first quarter and new moon

(C) full moon and the last quarter (D) the first and the Ias;t quarters of the moon

Alde 9a2a G2 K61 9 6IEOERER ¢

(A) BRI 99 GEAl 6967 - (B)gqeEe ZERR 1Q° AAIPIAY 696H
(C) gfe1 ¥Q° Q808Q 2ERE | (D) GRS 99° QIATR ACHE AFAER
Of the total area of the earth’s surface water occupies about ............... of it :

(A) 50% : (B) 60% (C) 70% (D) 80%

et 271g JINR AFFIRS 6RES AT OF OEF ?
(A) 50% (8) 60% c) 70% (D) 80%

Present populaticn is 10,000. Itincreases by 10% during the 1*year and decreases 10% during 2nd

year. Find the population after 2 years?
(A) 2000 (B) 12200 - (€) 12100 (D) 9900

QEAIRE SR 6898 10,000 98I g2 @ 10% QBN 99° §610 @ 10% 212 AN | 2 9F 96Q IR

SRA 6R60 629 GFINE 99 |

(A) 2000 (B)12200 (Cy1210 (D) 9500
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52. A shopkeeper marks his goods 12% higher than its original price than allows 12 % discount. Find

its profit or loss percentage?
- (A)1.44%loss  (B) 1.44% profit (C) no profit noloss (D) 1% loss

641 6QIRIN 38 F0E AUeQ g AR 12% 2R gAY FEIRE 98 12% Gl 9P 968 | IR AR 9e°

YR F0ael QR Qa |
(A)1.44% 96  (B) L.A4% QR (€) P QIR 2l 96 (D) 1% 8@
53. Ram’s salary is increased from Rs. 630 to Rs. 700. Find the percentage increase in his salary?
(A)10% (B) 12% (‘C} 11.11% (D) 20%
ARIQS Qarll 630 SR 700 IR 9F JRR! | FRLIR 6966 P69S BRQE AtRl QIve @a |
(A) 10% (B) 12% (0)11.11% (D) 20%
54. An amount of money double itself in 10 years. What is the rate of interest?
(A) 10 % p.a. ~ (B)20%p.a. (C) 5% p.a. (D) 15% p.a.
641G\ AS QEie 071 geee 10 Rd6a “IeazIcT 9agd 24 | IR LR 28 9'a ?
(A) 10 % ged (B) 20% goed (C) 5% goad .. (D) 15% goed

55. An amount of Rs. 800 becomes Rs. 920 in 3 years at simple interest. If rate of interest is increased

by 3% then what will be the amount?
(A) 952 (B) 992 (€) 972 (D) 900

800 0@ 3 SE6Q IR ARIGS QR URARE 621a 920 FFIER UREe 24 | I olRIR QIR 3% 2RQE A6E

6069 TFI0 TRFIS Q60 629 ?

o

(A).852 (B)992 (C)s72 (D) 900
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56. In what time will rupees 1000 becomes Rs. 1331 at 10% rate p.a. Compound interest.
(A) 3 years (B) 4 years . (C) 2 years (D) 10 years
QTR 3% OQQR Y 2I0EA AEH AFE FRIER 1000 61 1331 SFIER TAEE 629 ?

(A) 3 9@ (B)4 @9 (294 (D) 10 @d

57. The ratio of two numbers is 3:4 and their L.C.Mis 180, the;- 15t number is?

(A) 45 (B)30 {C)60 (D) 15
‘
Q@G el FRINEA QLIS 6208 3 :4 NS° EXIRE L.CM. 6298 180, 696Q GRIF AEMIT 6960 ?
(A) 45 (B) 30 . {C) 60 (D) 15
58. The ratio of radius of two circles is 3:4 then what is ratio of their areas?
(A) 16:9 (B)9:16 (C)3:4 (D)1:2
: ;
206 QU0 MIAFA AQIS 620E 3 :4 6069 CARS 6HOR ZQUE K6l 2
(A) 16:9 (B)9:16 (C)3:4 ) (D) 1:2

59. In an election one candidate got 40 percent votes and defeated by 1500 votes then votes of

winner are?
(A) 3000 (B) 5000 (C) 4500 (D) 6000

66T FAIORER FE& TIT 40% 6QIC iRl 99° 1500 661F 6RITEE TRRE 62R, 6069 FEFOIR CRIE

Qe eee ?

(A) 3000 (B) 5000 (C) 4500 . (D) 6000
60. What is the sum of three angles of a triangle?

(A)120° - .- (B) 150° (C) 100° (D) 180°

601G SR 87 Q1R AN 6R60 ?

(A)120° (B) 150° () 100° (D) 180°
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61. Which gland of human body is called ‘Adam’s Apple’?

62.

63.

64.

(A) Pituitary (B) Adrenal

(C) Thyroid (D) Endocrine

QA 6920 699 U “2USIAL IR” 6QIR QRIAI ?

(A) GuQeid (B) 2lLRIR

Digestion of food starts in the :
(A) Mouth ’ (B) Liver
SR 26 JRY 62K016Q 26 29 ?
(A) O§ (B) 990
EEG is related to :

(A) Brain (B) Heart
EEG QlQl 980 Q9@ ?

(A) Pga, (B) goda
Catalyst :

(A) Stops the reaction

(C) Affects the rate of reaction
QE6egae (Catalyst):

(A) QALER ORI 90 F6Q

(C) 2IRerge (D) W6ARR
(::) Stomach (D) Intestines
(C) aIRgP (D) 2AFAR
(F) Eyes (D) Kidneys
(©) arg (D) QR

(B) Itself take part in a chemical reaction

(D) none of these

(B) F69 QIQIORS UOTNER Z°GgRE R6Q

(C) PR FIRIR gRFe Q6Q (D) 6R1613C 62
65. BCG is used to prevent :
(A) Hydrophaobia (B) Cancer (C) Neuralgia (D) Tuberculosis
BCG @ QYQQIQ 9’6 oI aiet ReIaNg ?
(A) PRIOS (B) Q¢ (C) YadR (D) A5
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66. Who is regarded as the Architect/Father of the Indian Constitution?

67.

68.

69.

(A) B.R. Ambedkar (B) Jawaharlal Nehru

(C) Rajendra Prasad (D) C. Rajagopalachari

QIPIQ AIRGIS ATURR I8 FRIE 1 FFQ NER ARIR JAAIN 7

(A) . ZIQ. 26A90R (B) FLIPQRIN 6R62E)

(C) lewa gdlw (D) Q. ciRisaltIRSIEY

The constitution of India is :

(A) Unitary

(C) Federal with a strong centralizing tendency

RIS AR 6208 :

(A) 3RS (B) oug°anal
@ FRIIA 99 9F 6RaIRige gefl (D) 6F16EE Q62

Which of the following has a constitution of its own?

(B) Eonfederal

{D) None of these

(A) Tamil Nadu (B) Sikkim (C) Manipur (D) Jammu and Kashmir
FORYe 620 FRq AR 688 7

(a) eifiRsig (B) G@¢1 (C) Péiga (D) PR g1

The state of emergency can be proclaimed by :

(A) The President (B) The Prime Minister

(C) The Speaker of Lok Sabha (D) Ministry of Home Affairs

LEARINIR ORF0 699R FIRIQKI LB FAIRICH ?

(A) eugad (B) QuIGAR1 (C) 6RIAIRR el@aé (D) GRYITR FadIRa
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70. The President can promulgate ordinances only when the :

71.

72,

73.

(A) Prime Minister asks him to do so (B) Council of Ministers wants him to do so

(C) Parliament is not in session

(D) Parliament empowers him for it during a particular session

QRS ZRMICDE ERITEN 6RO 6ACOERER FRURES 6UCEERER :

(A) RIS Gl 69UR FoRIG @86

(B) (191 0BEQ O 620G FERIR KB6S

(C) AI6R 6IEEETER ZUERIR PIRA2AR

(D) G849 2U6RIR FIPEA YadIR I°AQ BIF FFIE! g QG
The ancient name of the city of Patna is :

(A) Kausambi (B) Patliputra (C) Kanauj
dIgR ARER IR UK ['& ?

(A) 6@ (B) QISRYR (C) @6Fl@
The Battle of Plassey took place in the year :

(A)1757 (B)1772 (C) 1864
IR gR 6ae FI3LIER TATO TR ?

(A)1757 (B)1772 (C) 1864

The Nalanda University was in the present Indian state of :

(A) Orissa (B) Bihar (C) West Bengal

AIRRl FGIMIRA AFR ARG SRR AUKIER AR ?

(A) BG4I (B) GelQ (C) aflqeer

(D) Kapilvastu

(D) @9RY,

(D) 1870

(D) 1870

(D) Uttar Pradesh

(D) @864
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74.

75,

76.

Who was the first British Governor-General of India?

(A) Lord Minto (B) Lord Cornwallis  (C) William Bentinck
QUEER 2IF T4 TIRda 6RERRIR @9 YR ?
(A) @@ Tree! (B) 2% @dgRd (C) GRag 6e°de
Who founded Indian National Congress?
P
(A) Surendra Nath Banerjee (B) Dadabhai Naorojee
(C) C.R. Das | (D) A.O. Hume
LUROIN RIO10 Q°6gd @9 9PTI FGER ?
(A) Le0RRR QIRIS (B) QIQIRIR IERIR

Acid rain is caused by :

(A) excess production of coal gas

(D) Warren Hastings

(D) Bl60% 628arQ

(€) Q.28 @Id

(B) excess release of CO, due to increasing combustion and respiration

(C) excess release of SO, and NO, from burning fossil fuels
(D) excess production of gaseous hydrocarbons

@6 ofl QI06 29?

(A) 6RIQRI SMIAR AIR] 28 TR

(B) @20 9° A4/ TRER CO, @ TP Geidl
(C) 989Q Q2RQIAl SO,4° NO, & 2SR Rdr

(D) SHIQIE LIRNCRIRITRR AR BN Qe

(D) . 6. 24¢1

77. Which is not the unit of distance?
(A) Kilometer | (B) Centimeter (C) Kilometer/hour (D) Light year
6RUE 9R0IR QR Q6L ?
(A) FeRIFiea (B)6QdieR () &.8.ere (D) ZeRRed
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78. Which of the non-metal is found in liquid state?

(A) Oxygen (B) Nitrogen (C) Helium _ (D) Bromine

FORge 60U FRIY 0oR ZQga Fee ?

(A) ZERIR (B)aesioRi® () eaaa (D) @fe

79. The unit of intensity of noise is :

(A) Decibel (B) Decimal (C) Debey (E)) Dioptre
00 ORI QR 6268 :
(A) 6edea (B)eednIR (€ S (D) clage

80. Deficiency of Vitamin-A causes :

(A) Rickets (B) Beri-beri {C) Night-blindness (D) Polio
SR 1 ZQIR 626 Q'€ 47
(A) m (B)Beri Beri (C) Night-blindness (D) Polio

81. The deficiency of which constituent in our food causes goiter?
(A) lodine (B) Vitamin C (C) Vitamin-A (D) Sodium
2IF MR V'€ RIS CRER TP 6 29 ?

(A) 268 _ (B)Seie C (C) Sekie A (D) 62Bae

82. Which of the following is not a metal?

(A) Ferrous (B) copper - (C) steat (D) mercury
FRGE FRNQ QLG AIQ Q6L ?
(A) 6a0q (B) eq (©) @l (D) dig@
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“83. Which is the universal donor blood group?
(A) A ' {B)B

6RU0 6208 AMRRR Q8eE QU ?

(C) O(-ve)

(A) A , (8)B
84. Which of following disease caused by viru-s?
(A) Cancer (B) Cholera
IS 626 6RI9T QOIERAE ?
~ (A) GQQQQ ‘ (B) @c@ai
85. Which is the unit of weight?
(A) Kilogram . .(B) Ampere
6REC CORB BRRR 9AQ ?

(A) @igA (B) etigia

(C) O(-ve)

(C)TB

(C) Gram

(C) g

(D) AB.

(D) AB

(D) Smallpox

(D) @lgeda

(D) Newton

(D) fage
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Odia Language

86. 652 QUER QIR YF AW 6266 ?

(A) 49 (B)31 (C)s0 - (D) 53
87. @éﬁqe 4 CRNG 699T BRY yF Q6L ?

(A) & (B)ar (Ce (D) @
88. 6Ru6ae QUER F FEea ‘] gIyE 29°?

(A)e+e (B)e+g (C)ea+w (D)g+e
89. 6245 e ¢8qad aéﬁ ?

(A)a (B) w (C) & (D) @
90. 6RIge ot Fareol g 938 | @ QIRIER B0l 6208 R :

(A) agam (B) Seeime - (C) e (D) ggeiee Qese
91. 65161 €Q QI QIR PIRER LR NNGE 29 PIVIY. 6 FFB ?

(A) aeqia (B) Gsarmy (C) Geagel (D) zeya
92. 2092, a4, 208 QAIE 6ae dea gdae ?

(A) agie (B) 5@ (C)ee . (D) saigen
93. geYd dna RIS IR Q€ ?

(A) &8 (B) feala (C) ared (D) gsoim
94. ‘ud9s 6291'q 9P6a K'd QRIAIN ?

(A) Gﬂ;aefa 200 6991 (B) 2€I91¢96a ol R @RRER!

(C) sia @ q1gl (D) siq 0@6m QIF 660!
95. ‘ca iF Q¥ 98 g0’ oFe 2d Q4 ?

(A) Gg@ gaia @da! (B) sstiaice aG@!

(C) 216@ aete @ gl (D) 224 a9 919@ gEe!
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196, ‘@109’ 600 QAR 6066 TR 2
(A)G+ee (B)sa+eae (C)d+ee (D)ar+ee
97. 400QIe 2ITAI 6 AXIGEA T 9G CEINI AR | 921 RE R4 ?
(A) o8 (B) aep (C) ealGie (D) &g
98 69¢ a6 ‘U6’ ROl AERE :
(A) 208 (B) ze4e (C) om0 (D) zeueR
99. ‘¢ 25 qerca 2 GAURE I’ @ QIRYEH ‘95’6 696 T08 RIGE ?
(A) asert (B) eqé (C) gomai (D) sa
100. 52661l QAIYER Q2O 6HR CURR I’ 921 ¥@ 68E FRIQ QIRY ?

(A) 6686 ged (B) ziede (C)qade  (D)eede
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